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NOVEMBER 2017 72071/TAM1A

gmxw.bﬁu : 75 marks
PART A — (10 x 2 = 20 marks)

Time : Three hours.

Answer any TEN questions.

1. If q, B,y are the H.ooﬂ.m of x®+ px® +qx+r=0 find
>ab. .

o x3 4 px? +ma+w 0 ar Goea_.mm: a, EL\ Qam_e
Yo -aan s, ‘

2. Forma woﬁ&& mmmumm mn:mﬁob if V5 + w is one om
its roots,

)\w+a\l QQEQ (B @o@@b%@ nﬂ.a_@ .a:m:@ Lilg & -

FLOGHTL :._ljva.sg._.mm m:.ag._.&...

3. Solve the equation x* +AR +5x2 +2x 2= o if
|H+< 1 Hmobowog .
- H +4/= L em
x* + 448 +ma +NR 2=0
Eies. .

- gpaGuafia
G | FLOGTUML lg.aner

4. U:EEmw by 3 the roots om the equation

x° —4x* +3x® —4x+6=0.
5 —4x* +3x%-4x+6=0

tpersefler 3-08& Gamp.

GTED  FLOGTLIML lg.Ghr

Bse\Muho)

11. If a=b (mod m) and Qﬂlv AEomSV then iwmn is
the value of pa+gqa, if p,qez.

a¢=b (mod m) HDLD =b, ABom. m) ﬂ@za.c
ﬁa+ qa, -& Wi erenen? @E@ p,gez &@5

12. If a=b(modm) then what is the ‘value of  a®,
nez.

a=b (modm) eafler @™, n ez -en i eremen?
PART B — (5 x 5 = 25 marks)-
Answer mgw FIVE questions.

13. Solve the equation x®-4x5-11x*+40x® +
11x% —-4x-1=0, given gma one root is V2 — )\l
V2-48
1lx® -4x-1=0-én Qmw:@mmccrr ) @oe_b erafled
nw_mmsgr_:_lﬁmsmﬂ Erds.

QQE@ x° IAR ~11x* +ﬁoa 25

14. If a, \w y are the roots of the m_ncmaou

x% +ax® +bx+c=0 form the equation évomm roots
are af, By and ra.

x®+ax® +bx+c=0 eémp FOETUTIGET  AP@EIGET
a, h .y aafl® af, fy wHPD Yo TED APOEIGMETE
QaTeir_& FLOETLIML g GHET &TaRTs.
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5. ~ Find the range of a positive real root of
x%-24x-50=0.

22 +24x-50=0- 3 Blens

Quiiepaotd
EnEs BT,

B@SED

6. Write a skew m%EBmﬂﬁo matrix of order 4.

auflans 4 o_ear (1 ﬂ.%: msm%qa%msﬁ T(PEIS.

7 E&, A m&uﬂ U

_NH _,
\» T L ﬂ@w@\» %mm:ga

8.  Find the characteristic equation of A uﬁ _wH &

wH
k.pu _HI H L -a.q,r_a.ﬂBEww.mE.%E q_.ws.aa@.ﬁ&:&ﬂm.
9. . Find the number of all divisors of 360.

360-ar nﬂasgm@_ 9@@%9%@ Qmsqg%a%m@:._m
sreaus.

10. Find the number of integers Hmmm »&mb n and vEEm

toitif n=729.
n =729 erafled n-enws %F&%E@E LHMID R-iE unsT
GTERT HET &G LD 2 G pEp Gretoraefler
eTainsnflEmasemaTs STes. :
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wiu@r;,p _. :

15. Solve the mpzwmos . . _
x* +20x° —~143x* +430x +462=0 by removing its
second term.

x? +20x% —143x2 +430x + 462 = 0 -é
uGSow B oFFaTUT I men Siés.

Gyerr_mb

16. Ebm the sum to infinity the series

H+w+WW+

‘v

,H+w+m|m+
4 48 Ampm

@scstflar sl g AsTensmus sreams.

+... 0 euengulievmen

211 .
17. If A=|1 2 1|, prove that A -B5A+4I=0.
1 1 2

P

12 11 . .
A=l1 2 1| aaféd A’ -5A+4T=0 dor fnays.
1 2

18. Find the smallest number with 18 divisors.

18 aigsdlamans QenanL BlasAPlw eramenans Grairs.

19. Shcw that 132* 4 9% in divisible by 22.

HWNP+H ®N=.+“_.

GTaugl 22-9p60 9@[@5 ere %E@._m
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20.

21.

22.

2
‘Diagonalise the matrix [1 1 1
1

PART C — (3 X 10 = 30 marks) 23.

- Answer any THREE questions.

Hm the sum of two roots of the équation
xf+ px® +qx? +rx+5=0 equals ﬂro sum &. erw

other two. Prove that p® +8r=4pq.
x*'+ px® + gt +rx+s |_o ey swerLmiger @
peisafier mp@m@ Hn @H epeobiseier ?@&@_m@
&1oLb arafler p° +8r= &cn QQ.@EE&

(a) Solve the equation %% —6x-9= 0.

92 32 AN
) ch to o ﬁvo series —+—+—+..0.
. 1 2 3

N

(o) x*-6x-9=0 ﬂ%B.w__omQEq_.lj..@g Eirés.

@) LAV, S
An@v, S TRCTI T

Qzm_fen gFQEDWnQQQEa SITERTS.

98_:.99:.9 ereim

=2 3

3 -1

2 -2 3
< S T
1 3 -1

eren <iewflenwt el L_enowIisEs..
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24.

(@)
®)
(1)
()
(a)
®)

(=)

(=)

Find the highest power of 3 dividing 1000! .

‘With how many zeros does 79! mbm..v

1000! g euEsED 3-er nw_%acrm Es.ms_r_m
Sains,

qw_ TSSO W«%%EE&Q:@ @o_h_.@maF&B@_v

m&oé that every integer which in a woummﬁﬂ
cube is of ?m form 7p (or) Tp£1.

Show &5& (x° -x) is &&mwzm. by 30.

@9@9:@ PPESEHD R wHo AuHp semons
(perfect cube) 7p (=) Tptl eemp o @meded

QEEEW e Bigias. -
(x® — %) eramug) 30 6 QuGLGLD eTer %Eﬁa
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